PRINT your name
Quiz for February 27, 2009

Remove everything from your desk except this page and a pencil or pen.

Circle | your answer. Show your work.

The quiz is worth 5 points.

A 13-foot ladder is leaning against a wall. If the top of the ladder slips down the
wall at a rate of 2 ft/sec, how fast will the foot of the ladder be moving away from
the wall when the top is 5 feet above the ground?
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Let y be the distance from the top of the ladder to the ground.
Let = be the distance from the foot of the ladder to the wall.
We are told %% = —2ft/sec.

We want % when y = 5 feet.

Answer:

The quantities z and y are related by 22 + y? = (13)2. Take the derivative with
respect to time to see that 2:1:%% + 2y%§ = 0. It follows that

dr _ _ydy
dt ~  zdt’

When y = 5feet, use 22 + 32 = (13)? to see that x = 12feet; so
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